
 


































































































































Bright Shing Little Twinkle
2 9 5 3
long short short short
fat thin fat fat

big small small small

boy girl boy girl

basket = košík

thin = hubený

Exercise 1
























































Exercise 2

Answer the questions. Use whole sentences. Odpověz na otázky. 
Používej celé věty.

How many puppies has Dotty got? Dotty's got five puppies.
1.
Where's Shiny? Shiny is in basket number four.
2.
Has Bright got a black mark on his head? No, he hasn't.
3.
How many puppies are boys? Two puppies are boys.
4.
Is Twinkle in basket number three? Yes, she is.
5.
Has Little got big or small ears? Little has got small ears.
6.
How many puppies have got fat bodies? Three puppies have 7.
got fat bodies.

Where's Lucky? Lucky is in basket number two.
8.
Are Twinkle's eyes closed? Yes, they are.
9.
Which basket is Little in? Little is in basket number five.10.


